1mi= cmd,

Im= dm,

1mi= am?,

ldm=__cm

1L=__dm’=__dmx__dmx__dm=__cmx__cmx__cm= cm?,
1L= cmd

1m= mx mx_ m=__dmx dmx_ dm= dmd = L,
1mé= L

1. jewellery box is 28 cm long, 15 cm wide and 20 cm high. Capacity in cm® ?

2. jewellery boxis 28 cmlong, 15 cm wide and 20 cm high. Capacity in litres ?

3. jewellery box is 28 cm long, 15 cm wide and 20 cm high. Capacity in m® ?

4. jewellery box is 28 cm long, 15 cm wide and 20 cm high. Capacity in ml ?

5. jewellery boxis 28 m long, 15 cm wide and 20 mm high. Capacity in ml ?

6. Tank 80 cm long, 60 cm wide, water in tank 40 cm high.

Mum put 43 200 cm? more water into tank,

how many cm?® has the water increased? ( )
how many litres has the water increased? ( )
how many m? has the water increased? ( )
how many cm? has the water increased to? ( )
how many cm has the water increased ? ( )

how many cm has the water increased to? ( )




